
PCW4000 Pris ex moms:  

10-0098 BUSHING FOR SAFETY HOOK kr        63,00        

10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN kr              25,00        

10-0136 ROPE ENTRY HOOK PCW3000 SERIES kr      260,00     

10-0137 WINCH HANDLE PCW3000 kr   555,00       

10-0478 ROPE RETAINING HOOK kr            307,00     

10-0479 GROUND PLATE kr            323,00     

10-0514 CLEAT BACKING PLATE kr            232,00       

31-0010 HCS 1/2-13 X 6 - GR5 - ZN kr               90,00         

32-0008 HEX FLANGE SERRATED BOLT M8-1.25 X 16MM - ZN kr               18,00         

32-0009 SHCS M5-0.80 X 10 MM kr                          10,00      

32-0018 BHCS M6-1 X 25 MM - SS kr               14,00         

32-0051 SHCS M6-1.0 X 16 MM - ZN kr           10,00        

32-0055 BHCS M5-0,8 X 8 MM - SS kr         12,00         

32-0064 SHCS M8-1.25 X 20 MM - ZN kr               16,00         

32-0065 FHCS M5-0.8 x 50 MM - SS kr               26,00         

32-0066 HEX FLANGE SERRATED BOLT M6-1 X 60 MM - ZN kr              28,00        

33-0005 NUT 1/2-13 NYLON - ZN kr              15,00         

34-0006 NUT M5-0,8 NYLON - ZN kr          6,00      

35-0004 FLAT WASHER 1/2 - ZN kr          12,00        

35-0022 SHIM WASHER 7/8" OD X 11/32" ID X 0.132" kr              95,00      

36-0001 FLAT WASHER M6 - ZN kr          6,00      

36-0004 FLAT WASHER M8 - ZN kr       6,00    

36-0006 FLAT WASHER M5 - ZN kr       6,00    

39-0026 RETAINING RING EXT. 25 MM kr               23,00        

41-0021 THROTTLE CABLE ASS'Y PCW4000 kr            330,00       

43-0057 KEY FOR CAPSTAN DRUM 76 MM (8 MM X 30 MM) kr               42,00        

43-0060 O-RING BUNA-N 70A 1/4 ID X 3/8 OD kr             6 ,00       

44-0256 FIBER REINFORCED CAM CLEAT FOR ROPE 3 TO 12 MM kr            987,00        

45-0053 TANK GUARD GX35/GX50 WITH INSERTS kr               46,00        

45-0054 SHCS WITH FLANGE M5 X 30 MM GX35/GX50 kr             6,00      

49-0032 TYPE "U" DRIVE SCREW #4 (0.114" X 1/4") S/S kr         7,00      

49-0037 ROUND PLUG 3/4 kr              18,00        

70-0130 A.R.M. SUPPORT ASS'Y (W/O CLEAT AND EXIT HOOK) kr        1064,00       

70-0132 CLUTCH DRIVE ASSEMBLY kr                       2063,00       

PCA-1120 76 MM CAPSTAN DRUM WITH ROPE GUIDE AND 1 SCREW kr                      1290,00      

10-0129 CAPSTAN DRUM 76 MM kr         1005,00       

10-0131 STEEL ROPE GUIDE FOR CAPSTAN DRUM 76 MM kr            235,00       

PCA-1281 SAFETY HOOK WITH LATCH kr            220,00       

PCA-1160 ENTRY HOOK WITH TENSION ROD kr            335,00       

PCA-1161 PROGRESS CAPTURE SYSTEM SUPPORT (WITHOUT CLEAT AND EXIT HOOK) kr                       1180,00     

Honda delar: 
45-0051 Motor GX50NTS3 kr                     7251,00       

45-0055 Starthus GX50  kr          830,00       

45-0061 Filter element GX50 kr           300,00      

45-0063 Filter deksel GX50 kr            214,00      

45-0062 Filterhus GX50 kr            465,00      

40-0040 Tändstift CRH5HSB kr           140,00      

39-0008 Oljeplugg kr               18,00        

43-0032 Av och på brytare kr               88,00       

70-0031 Av och på brytare Komplett med konsol kr            250,00     

45-0020 Tanklock kr            220,00      

45-0039 Bensin filter kr            380,00       

45-0065 Topp cover Röd GX50 kr                      1650,00      

GAS-POWERED PULLING WINCH - GX 50 CC

Reservdelar PCW 4000




